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5 ‘FH gtk Ty TR /N 10/ 5 32. 51 9%k
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31 HHE HE At AT /N4 6/ 2 38.33 45%
32 AR R BHF ¥ 7 /N3 2/ 2 38. 67 9%
33 LR HEFH A M4 /N4 5/ 1 38.68 4%
34 I mik WA AR T ! 3/ 2 38.73 45
35 KR Eff A M B 3 /N2 6/ 6 38. 81 SH%
36 )1 E WE K A-1SS /N3 4/ 6 38.82 6tk
37 HE hiii LAY 7L /N3 6/ 1 38.95 65k
38 EATHEE T T /N4 4/ 5 39.06 45K
39 I 3K A TR /N4 2/ 4 39.40 45
39 HE HEARHS A TR H /N3 4/ 3 39.40 5%
41 "l YRR VRS AV /N3 3/ 6 39. 47 S
42 F)I FHE RSC'H +: /N4 3/ 3 39.48 A
43 )2 Ty /N 2/ 5 40. 34 5%
44 8% FESE RSCH + /N2 1/ 5 40. 52 Stk
45 fmE A A b4 /N2 3/ 4 40. 61 Stk
46 B BGml ASeZiil s /N4 2/ 3 42.12 45%
47 hnpE o B TrTTT7 N3 5/ 2 42.30 45
48 AL Eik Sl e /N2 1/ 4 43. 77 6%
49 il ABgy A M /M 1/ 3 44. 52 5%

OPN i W= FHES S 12/ 4 31.88 9#k

) HEE . 1H10H 15:03



FATIRIJSCAFIF- 7 = AT ¢ 7~SOVKUKBEE R & (P ) =% 2/4
HIH :20214E1H10H (H) O ERRE R NT KK (25m)
No.32 BF 50m Eefs 84 LL—RRE SEER 2.6
L 10T > BE R 28, 96
B K 4 T & 2E KE B fE
OPN FE=] ke HEES S /N4 8/ 6 34.87 Tk
OPN #kfE %52 HWE+SC /N4 7/ 2 35. 71 8k
OPN /]~ (L5 — HWE+SC /N 5/ 7 35.95 %
OPN HIF  BiGi IS S /N4 3/ 7 38.07 6%
OPN fH M M HE+SC /N2 5/ 3 38.25 9%k
OPN EH F&& BEES S 7N 5/ 6 38.35 %tk
OPN #%H bt HELESC /N3 3/ 1 38. 61 6%
OPN HH FIR HE+SC /N3 3/ 8 39.34 5%
OPN &k FHHE WES S /N3 4/ 7 39. 89 5%
No.32 BF 50m B 84 LL—RRE SEEE 2501
L 11~12%F > HEER 25.38
B K 4 T & 2E KE B E

1 EH &5 vy H mlo17/ 7 28. 11 9%

2 IWH  HEXR LZixs s /N6 16/ 5 28. 67 9%

3 i EERk THTIT7 N6 15/ 3 29.23 8%

3 EH R&u RSCE + N6 17/ 1 29. 23 8%

5 IR & A-1SS /N6 14/ 6 29. 37 8#%

6 WH HmE LZixs s /N6 15/ 5 29. 40 Sk

7 & SENE <)L TS C /N6 15/ 2 29. 81 Sk

8 (FHELNACER vt AVE /N5 15/ 1 30.23 O

9 e B FHESC /N6 15/ 7 30.30 Tk

10 #i HRAT LZixS S /N6 14/ 2 30. 43 %

11 Y7497 W LZIXS S /N6 15/ 6 30.50 Tk

12 ¥ k5= RSCE + /NG 13/ 4 31.27 8%

13 fltE  HEA SeZi:l3 /N6 13/ 7 31.35 6%

14 Bpep o B5HH FHEESC /N6 13/ 1 31. 64 67%

15 +4 EEK A-1SS /NG 14/ 8 31.69 Stk

16 /i K5 WA A VR HE /N6 13/ 8 31.73 6%

17 /MK AR IS MY STERE 3 /N5 12/ 1 31.79 %

17 )18 BEK A-1SS /N5 13/ 6 31.79 Tk

19 H)II "A LA 7 N6 14/ 1 31.80 TH%

20 M #H LZiEs s /N5 13/ 5 32.06 TH%

21 K BEE WA AV R /N6 10/ 3 32.29 5%

22 S H 73 TAVEE DR /NG 11/ 6 32.34 Tk

22 A1 5 EHFv 7 N5 11/ T 32. 34 Tk

24 KA £ FEFESC N6 12/ 2 32.39 5%

25 FLAREHACER BEtEF ¥ 7 /N5 11/ 4 32.48 %

26 FlEs 2Rk A-1SS /NG 12/ 3 32.50 Tk

27T A f6t A-1SS /NG 12/ 7 32.59 TH%

28 T KB ThrTIT7 6 10/ 4 32.69 TH%

29 R B RSCH 1= ) 9/ 6 33.05 61k

30 AT & RSCE + /N5 13/ 3 33.09 6%

31 RAAT L A YAVIZED R /NB 9/ 2 33.27 6tk

32 HpT KZE T T /N5 11/ 8 33. 41 6%

33 Ailig S WA A VR HE /N5 7/ 4 34.09 6%

34 KA i oty AR =oh] 7/ 1 34.15 45,

35 /R KB R — A ELFE NG 9/ 8 34. 31 45%

36 5 K0 7T 7 /s 10/ 1 34.86 5k

37 B FIE A M1 e /N6 10/ 7 34.98 3%

38 AR MM vy H /INB 8/ 8 35.00 5k

HAOBRME: 1H10H 15:03



HBATEIISCAFE 7 = 2T ¢ VKUK RS &l (P RE) 23 3/4

HIH :20214E1H10H (H) O ERRE R NT KK (25m)
7, — Z SRR 2EEE 25. 01
o 32 7 201 BEf 54 LL—RRE sEER  m0
BfL. K 4 i B 2E KE =
39 JAH Bk TAVVEE DR N 8/ 7 35.95 45
40 11 IS Ay TG H /NG 5/ 5 37.04 3%
41 Wb ik (O A EE /N5 41 37. 49 35K
42 WA=y 2 R BB /NG 4/ 4 38. 68 2%
OPN ‘= INELAER ‘ST /NG 13/ 2 31.28 8k
Z —_— S B £EEEE 23.56
N2<' 3123%34,1;;0& B g FALL—RRE ﬁ%%éﬂg 23.99
Ef. K 4 T & 2E KK =
1 A8 it BEFv>7 2 20/ 5 Jgg 38 1154
2 Bl ks R — L Flr 20/ 1 24. 71 127%
- JOC
3 WA i BHF Y7 2 18/ 3 26. 26 9%k
4 HK 2 FH YAV FE DR F2 19/ 1 26.67 *F#) 9%
5 hkH g ot A8 Fl 18/ 4 26.99 Otk
6 M ¥EA T H12 18/ 8 27.56 %
Al S A-1SS 2 18/ 1 27. 62 %
8 ML KFHE A M4 R 2 17/ 4 27.67 Tk
9 #BH s 7T 757 2 17/ 5 27.79 TH%
10 )1l Hish </ TS C F2 o 17/ 2 27. 86 TH%
11 hHE A FEESC 2 16/ 4 27. 91 TH%
12 HAK HEKR YAVZE DR F2 16/ 3 28.49 6%
13 #H KM BEEF v o7 1 16/ 2 28.93 Tk
14 HkF ZEF LA 7L 2 16/ 8 29. 05 67%
15 EfE R FHFES C 2 14/ 5 29. 11 6%
16 A A TR F2 16/ 7 29. 21 6%
17 A A ThrTIZ7 2 16/ 6 29. 41 5k
18 WFvung™ 41y RN— 2B 1 14/ 7 31. 41 5%
19 IRy S KRR IS Y STARE F2 11/ 5 32.78 21%
20 HH K VA AR L1/ 1 34. 36 2%
OPN fbAl 1B HES S 2 19/ 5 25.53 9%,
OPN Py #HE 7 =7 =% F JiF 1 17/ 8 27.13 oK
OPN HaAs  fEFH WIS S 1 17/ 3 27. 82 8k
OPN f&H f{EK HE+SC 2 12/ 6 30.43 4%
Z — Z SRR 2EEE 22.117
No. 32 % ¢ 200 B 54 LL—RRE
Bf. KK 4 & 2E KB i
1 PR HER A TR H =119/ 6 25.12 ok
2 $AKEEZAT Ve A 3 20/ 8 25. 24 9%
3 FRIEBERE A YAV 5ED R =2 20/ 7 25. 27 9k
4 R B 75 =2 19/ 8 26. 49 8%
5 i MR R— LB =2 18/ 2 26. 96 6%
6 e YA FE DR =1 18/ 7 27. 49 Tk
OPN N#F  BR= FREE =R ml 20/ 4 Jgg 217 12#%
OPN =F 2 KER FREFE IR =3 20/ 3 24.58 9%k
OPN HH £k HWES S =2 19/ 2 25.14 8%
OPN HE{S  BER FEBFE IR =2 19/ 4 25.18 8%
OPN KH B B =2 20/ 2 25. 26 S
OPN L 1% ety AVE —% 20/ 6 25.32 Tk

HAOBRME: 1H10H 15:03



HEATIEJSCAFHAE 7 = AT ¢ 2Lk kB ke

Wl (PR 25

4/4

HIH :20214E1H10H (H) O ERRE R NT KK (25m)
2/, — 7 Yhpx £ EEHE 22.117
N2<. 3125 %1—1; f§°">‘> =f:zF A LL—RRE A B
g
BfL. K 4 i B 2E KE =
OPN ek Hif& WIS S =119/ 3 25.98 Stk
OPN HK& &K ST =119/ 7 26. 02 Sk
OPN EEH = LZixs s XK1 18/ 5 26. 26 6%
OPN [alsE8  fEFn B +ST =1 18/ 6 26.50 8k
OPN Hkf  KFn 5% e 7 o] =117/ 6 27.99 6%
OPN VEfkf  FnE 5% e 7 o] =114/ 4 30.50 3k
HAOBRME: 1H10H 15:03



